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⇠ L
3d

Lmax = 30 in d = 3;Lmax = 13 in d = 4;

Lmax = 8 in d = 5;Lmax = 5 in d = 6

Lmax = 64 in d = 3;Lmax = 16 in d = 4;

Lmax = 9 in d = 5;Lmax = 6 in d = 6

⇠ L
3d2

d = 3, . . . , 6
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⌫ ' 0.95

Wc ' 57.5

a ' 1
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ij = (✏0,i + i⌘)ij + t C

(d1)
ij�������������������

[G(x+1)]1
ij = ✏x,iij + t C

(d1)
ij  t

2
G

(x)
ij

�����������������������������������������������������������������������
�������������������

1d ⇠1dImG

���������������������������
�����������������

1d

L
d1

��������������������������������������������G
(x) [⇠ L

3(d1)]

L

x



0 5 10 15
x

-40

-30

-20

-10

<
lo

g
 I

m
G

>

W=72
W=76
W=80
W=84
W=88
W=92
W=96

������������������������������1d
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(L/⇠)d2
for W < Wc

cst for W = Wc

⇠/L for W > Wc

⇠1d saturates to ⇠ in the localized regime

⇠1d diverges as Ld1 in the metallic phase
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hImG(x)i ⇠ exp[x/⇠1d]
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d = 6
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